35 Club A

Name:
6x2:= 5x4-= 90+ 10 =
12 x5 = 5x1l-= 40+ 5=
2x12 = 9xb-= 10+2=
4 x10 = 2Xx7= 24 + 2 =
10x5-= 6 x 10 = 7010 =
6xb-= 10x 5= 3b+5H=
12 x 10 = 2x9-= 15+56=
7 x 10 = 10x 8 = 100+ 10 =
8x2:= Bx7= 14 -2 =
9x10-= 10 x 10 = 110+ 10 =
8xb-= 11x2-= 45 -5 =
10 x 11 = 5x5= [
SEE,
; Name: 35Club A
6x2-= 5x4-= 90 +10 =
12 x5 = Hx1l= 40+5=
2x12 = 9xb-= 10+2=
4 x10-= 2Xx7= 24 + 2 =
10x5-= 6 x 10 = 7010 =
6xb:= 10x 5= 3b+5H=
12 x 10 = 2x9-= 15+56=
7 x10 = 10x 8 = 100 = 10 =
8x2-= Bx7= 14 -2 =
9x10-= 10 x 10 = 110+ 10 =
8xb-= 11x2-= 45 -5 =
10 x 11 = 5x5= [




